C:# Examining Digit Place Value Name:

Solve each problem. Answers
1) Which choice has a 1 with the value of 100 or 1 hundred?
A. 153 B. 4,619 C. 517 D. 1,392 b
2.
2) Which choice has a 3 with the value of 3,000 or 3 thousands?
A.7,342 B. 34,725 C. 3,796 D. 2,936 3
3) Which choice has a 6 with the value of 60,000 or 6 ten thousands? 4,
A. 53,968 B. 368,742 C. 572,136 D. 43,756
5.
4) Which choice has a9 with the value of 90 or 9 tens? ]
A. 956 B. 59 C. 149 D. 895 B
7.
5) Which choice has a 8 with the value of 800 or 8 hundreds?
A. 168 B. 7,859 C. 8,469 D. 1,782 8.
6) Which choice has a 1 with the value of 1,000 or 1 thousand? °©
A. 69,514 B. 21,385 C. 2,418 D. 3,152
10.
7) Which choice has a4 with the value of 40,000 or 4 ten thousands? "
A. 54,369 B. 57,184 C. 41,836 D. 637,421 '
12.
8) Which choice has a 8 with the value of 80 or 8 tens?
A.58 B. 829 C.68 D. 386
9) Which choice has a 6 with the value of 600 or 6 hundreds?
A. 4,687 B. 4,863 C. 3,965 D. 6,932
10) Which choice has a9 with the value of 9,000 or 9 thousands?
A. 64971 B. 1,239 C. 9,546 D. 97,163
11) Which choice has a 5 with the value of 50,000 or 5 ten thousands?
A. 21475 B. 753,891 C. 936,845 D. 71,958
12) Which choice has a1 with the value of 10 or 1 ten?
A.91 B. 139 C.18 D. 148
1-10 | 9283 75|67 [58[50] 4233|2517 |
[ Math ] www.CommonCoreSheets.com 11-12181 0




C:# Examining Digit Place Value Name:

Answer Key

Solve each problem.

1) Which choice has a1 with the value of 100 or 1 hundred?
A. 153 B. 4,619 C.517 D. 1,392

2) Which choice has a 3 with the value of 3,000 or 3 thousands?
A. 7,342 B. 34,725 C. 3,796 D. 2,936

3) Which choice has a 6 with the value of 60,000 or 6 ten thousands?
A. 53,968 B. 368,742 C. 572,136 D. 43,756

4) Which choice has a9 with the value of 90 or 9 tens?
A. 956 B. 59 C. 149 D. 895

5) Which choice has a 8 with the value of 800 or 8 hundreds?
A. 168 B. 7,859 C. 8,469 D. 1,782

6) Which choice has a 1 with the value of 1,000 or 1 thousand?
A. 69514 B. 21,385 C. 2,418 D. 3,152

7) Which choice has a4 with the value of 40,000 or 4 ten thousands?
A. 54,369 B. 57,184 C. 41,836 D. 637,421

8) Which choice has a 8 with the value of 80 or 8 tens?
A.58 B. 829 C.68 D. 386

9) Which choice has a 6 with the value of 600 or 6 hundreds?
A. 4,687 B. 4,863 C. 3,965 D. 6,932

10) Which choice has a9 with the value of 9,000 or 9 thousands?
A. 64,971 B. 1,239 C. 9,546 D. 97,163

11) Which choice has a 5 with the value of 50,000 or 5 ten thousands?
A. 21,475 B. 753,891 C. 936,845 D. 71,958

12) Which choice has a1 with the value of 10 or 1 ten?
A.91 B. 139 C. 18 D. 148

Answers
1 A
2. C
3 B
4 D
5 B
6 B
7. C
8 D
9. A
0. C
11. B
12. C
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